_ VANDERHALL FRONT LOWER SPLITTER
2017-CURRENT YEAR / ALL MODELS
STEEL WORKS INSTALLATION INSTRUCTIONS

23815 HICKORY PASS SAN ANTONIO, TX 78264

SALES(@ZARATESTEELWORKS.COM
WWW.ZARATESTEELWORKS.COM | PHONE: 888.552.9272

SBTEEL WORKS

A PLEASE READ ALL INSTRUCTIONS BEFORE STARTING INSTALLATION

KIT INCLUDES TOOLS NEEDED FOR
QTY- 1 Front Lower Splitter INSTALLATION

QTY-6 1/4" Bolts -Jack

QTY-4 1/4" Nuts -Jack Stand
QTY- 12 1/4" Washers -Standard socket & ratchet set

-Allen key set
-1/4" Drill Bit

PAGE 1

/A\ WARNING: Cancer and Reproductive Harm- DISCLAIMER REV1 NOV 2021
www.p65Warnings.ca.gov FOR OFF ROAD USE ONLY




SESTEEL WORKS

Start by removing all 4 factory bolts
that are on the front lower panel.

Look towards the rear where the

e factory bolts were removed and
remove the factory plastic lower nut
retainer on the 2 back side bolts only.

Note: Do not remove the 2 front
nut retainers, leave in place for install.

Next, remove the 2 back brackets the Now hold new front splitter and position
e plastic nut retainers were attached to. in place, install 2 of the 1/4" new bolts
Note: Save the 2 factory bolts as they towards the front side of the splitter and
will be reinstalled on Step 6. hand tighten.
U : £ AIMPORTANT: Do not fully tighten during
this step.




STEEL WORKS

splitter, reinstall the 2 brackets in place brackets with the factory bolts
and insert the new 1/4" bolts with washers that were removed on Step 3

and nut as shown. Note: Fully tighten
Note: Only hand tighten during this step.

Now moving towards the rear of the e Now tighten the factory rear

slots shown allow for adjustment.

a Adjust lower splitter to desired depth,
Fully tighten down all 4 bolts.

e A\ MPORTANT: Do not skip this step.

There are 2 remaining holes on the
splitter that are to be used for
L reinforcement purposes. Drill through the
o existing holes on the splitter into your panel.
Install the 2 new 1/4” bolts to finish installation.




Your installation is now complete!

THANK YOU FOR YOUR PURCHASE!
FoLLOoOw us oN FACEBOOK & INSTAGRAM
TO SEE OUR LATEST PRODUCTS.

TAG US IN WITH YOUR FINISHED INSTALLED
PICTURES!

OO

u] e

WWW.ZARATESTEELWORKS.COM PAEE 4



	Page 1
	Page 2
	Page 3
	Page 4

